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Skennmkayus nomeLeHuit. Bkennukayusa noMeLLeHuii.
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[NomelyeHne V (mecTa obLero nons3oBaHud) KsapTtupa Ne19
1 JlecTHnYHas kneTka 1 Mpuxoxaa 3.6
2 |Kopugop 2 |KyxHs-cTonoas 15.6 -
3 |Kopugop 3 |Cnanbha 9.4
4 [NMudpTosoit xonn 4 |Cy 36
KeapTupa Ne13 KeapTupa Ne20
1 |Mpuxoxas 1 |Mpuxoxas 36
2 |owy 2 |Gy 36 55
3 |Xwunag 3 |Cnanbha 9.4
4 KyxHa-Huwa 4 KyxHg-cTonoBagq 15.8
5 |Bankon (k=1/k=0,3) 5 |Barkon (k=1/k=0,3) 2.3/0.7 |34.7/33.1
KeapTupa Ne14 KeapTupa Ne21
1 |Mpuxoxas 1 |Mpuxoxas 36
2 KyxHg-cTonoBag 2 KyxHsa-cTonosas 15.7 203
3 |CnanbHg 3 |Cnanbha 9.4
4 |cy 4 |Cy 3.6
5 |Bankon (k=1/k=0,3) 5 |BankoH (k=1/k=0,3) 3.3/1.0 |35.6/33.3
Keaptupa Ne15 KeapTupa Ne22
1 |Mpuxoxas 1 |Mpuxoxas 36
2 |Cy 2 |Gy 3.7 B5iE
3 CnanbHg 3 CnanbHsa 9.4
4 |KyxHa-cTonosas 4 |KyxHa-cTonosas 15.8
5 |BankoH (k=1/k=0,3) KeapTupa Ne23
KeapTupa Ne16 1 [Mpuxoxas 6.2
1 |Mpuxoxas 2 |Cy 38
2 |lapaepobHaa 3 |Cnanbha 10.5 47.6
3 Cly 4 |CnanbHg 8.7
4 |CnanbHa 5 KyxHa-ctonosas 18.4
5 |CnanbHs 6 |BankoH (k=1/k=0,3) 5115 |52.7/49.1
6 KyxHg-cTonoBag KeapTupa Ne24
7 |Bankou (k=1/k=0,3) 1 |Mpuxoxas 6.2
KeapTupa Ne17 2 |Kyxua-ctonosas 18.3
1 Mpuxoxas 3 |CnanbHs 9.0 47.7
2 |KyxHa-ctonosaa 4 |CnanbHa 10.3
3 |CnanbHa 5 |Cy 39
4 |Cnanbhs 6 |BankoH (k=1/k=0,3) 2.6/0.8 |50.3/48.5
5 |Cy KeapTupa Ne25
6 BankoH (k=1/k=0,3) 1 Mpuxoxasn 38
Keaptupa Ne18 2 |KyxHsa-ctonosas 18.6 375
1 Mpuxoxas 3 |CnanbHa 11.1
2 |Cy 4 |Cy 40
3 |Cnanbhs 5 |BankoH (k=1/k=0,3) 4.4/1.3 |41.9/388
4 |KyxHa-cTonosas KeapTupa Ne26
5 |BankoH (k=1/k=0,3) 1 |[Mpuxoxas 4.1
2 |Xunaqa 10.6
3 |KyxHg-Huwa 50 21
4 |Gy 34
5 |BankoH (k=1/k=0,3) 3711 |26.8/24.2
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